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© 7 + 2.7 = 9.7 @ 2 + 0.2 = 2.2

@ 3 4+ 4.5 = 7.5 ® 3.5 + 4 = 7.5
® 1 + 5.3 = 6.3 ® 5 + 3.4 = 8.4
@ 2.8 + 3 = 5.8 @ 3.7 + 2 = 5.7
® 5 + 2.1 = 7.1 ® 2 + 0.8 = 2.8
® 1 + 0.9 = 1.9 1 + 6.9 = 7.9
@ 3 4+ 2.7 = 5.7 @ 7.5 + 1 = 8.5
5 + 3.7 = 8.7 ® 2.5 + 1 = 3.5
®© 2 + 3.1 = 5.1 1 4+ 8.6 = 9.6
1 + 0.8 = 1.8 2 + 3.6 = 5.6
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® 1.8 + 6 = 7.8 @ 3 + 3.3 = 6.3
@ 2.5 + 4 = 6.5 ® 2.2 + 7 = 9.2
@ 1.9 + 7 = 8.9 ® 1.3 + 7 = 8.3
@ 5.1 + 4 = 9.1 6.5 + 3 = 9.5
® 8.7 + 1 = 9.7 ® 2.1 + 1 = 3.1

® 1 + 8.2 = 9.2 ® 1.8 + 2 = 3.8
@ 6 + 0.1 = 6.1 ® 6 + 0.6 = 6.6
4.4 + 3 = 7.4 3 + 6.6 = 9.6
® 1.2 + 5 = 6.2 2 + 55 = 7.5
® 7.7 + 1 = 8.7 @ 4.1 + 3 = 7.1
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@ 1 + 2.3 = 3.3 @ 2 + 0.6 = 2.6
® 5.3 + 4 = 9.3 ® 4.9 + 2 = 6.9
® 3.8+ 3 = 6.8 ® 1.5+ 5 = 6.5
@ 4 4+ 5.7 = 9.7 @ 6.5 + 2 = 8.5
® 1 + 0.7 = 1.7 ® 3 + 1.1 = 4.1
® 9 + 0.3 = 9.3 2 + 5.4 = 7.4
@ 6.9 + 2 = 8.9 ® 1 + 1.3 = 2.3
7 + 1.4 = 8.4 9 + 0.7 = 9.7

© 1 + 0.1 1.1 3.4 + 1 4.4

© 3.3 + 5 8.3 o + 2.4 = 7.4
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@ 1.9 + 1 = 2.9 @ 3 + 3.9 = 6.9
@ 3 + 4.4 = 7.4 @ 1 + 3.3 = 4.3
® 2 + 4.2 = 6.2 ® 3 + 2.3 = 5.3
@ 1.3 + 4 = 5.3 @ 7.2 + 1 = 8.2
® 6.6 + 3 = 9.6 ® 1 + 7.9 = 8.9
® 2.9 + 3 = 5.9 6 + 2.2 = 8.2
@ 1.8 + 4 = 5.8 @ 3 + 0.7 = 3.7
® 6 + 1.1 = 7.1 ® 1.9 + 4 = 5.9
®© 5 + 1.1 = 6.1 ©® 5.5+ 2 = 7.5
1 + 2.6 = 3.6 2 + 4.1 = 6.1
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@© 3 + 6.7 = 9.7 @ 1 + 8.1 = 9.1
@ 7 4+ 0.4 = 7.4 @ 5 + 0.8 = 5.8
@ 4.2 + 5 = 9.2 ® 2 + 1.9 = 3.9
@ 1 + 7.3 = 8.3 7 + 1.5 = 8.5
® 5 + 0.1 = 5.1 ® 6 + 0.9 = 6.9

® 2 + 3.8 = 5.8 2.9 + 4 = 6.9
@ 3 + 5.8 = 8.8 ® 7.4 + 2 = 9.4
® 1.6 + 3 = 4.6 ® 3.4 + 6 = 9.4
© 2.4 + 7 = 9.4 ©® 4.6 + 2 = 6.6
4 4+ 3.3 = 7.3 1.2 + 6 = 7.2
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@ 8 + 1.1 = 9.1 @ 8 + 1.5 = 9.5

@ 5.6 + 1 = 6.6 @ 2.9 + 5

7.9

@ 2 + 2.8 = 4.8 ® 5.7 + 3 = 8.7
@ 1.5 + 4 = 5.5 3 + 4.6 = 7.6
® 2.4 + 2 = 4.4 ® 1.4 + 4 = 5.4
® 3.9 + 5 = 8.9 2 + 6.4 = 8.4
@ 1 + 8.4 = 9.4 ® 5 + 3.6 = 8.6
® 3.1 + 3 = 6.1 ® 7.9 + 1 = 8.9
©@ 4 + 0.7 = 4.7 3 + 2.2 = 5.2
1 + 0.6 = 1.6 4 4+ 4.3 = 8.3
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® 1.7 + 7 = 8.7 @ 4.5 + 4 = 8.5
@ 2 + 2.6 = 4.6 ® 6 + 2.6 = 8.6
® 5 + 4.8 = 9.8 ® 1 + 4.6 = 5.6
@ 7.8 + 2 = 9.8 3 + 3.1 = 6.1
® 3.2 + 1 = 4.2 ® 6.7 + 1 = 7.7
® 4.1 + 1 = 5.1 1 + 8.9 = 9.9

@ 1 + 1.8 = 2.8 @ 2.8 + 2 = 4.8
® 2.8 + 4 = 6.8 ® 5.9 + 4 = 9.9
® 3 + 6.1 = 9.1 ©® 4 + 0.6 = 4.6
® 7.5 + 2 = 9.5 @ 6 + 2.8 = 8.8

KZ 101-10 X—3:8/10



IR OFHE XK Z
@Y EAY DT NE LE [1]

KOHEELEL L3,

® 8 + 1.6 = 9.6 ® 2 + 6.5 = 8.5
® 1 + 1.7 = 2.7 ® 1 + 4.3 = 5.3
® 2 + 6.8 = 8.8 ® 7 + 1.1 = 8.1
@ 3.1 + 2 = 5.1 @ 3 + 5.9 = 8.9

® 7 + 0.9 = 7.9 ® 4.7 + 3 = 7.7
® 4 4+ 3.5 = 7.5 1.2 + 8 = 9.2
@ 1 + 3.4 = 4.4 ® 2.6 + 1 = 3.6
® 7.8 + 1 = 8.8 ® 7 + 2.8 = 9.8
© 5.8 + 4 = 9.8 ©® 5 + 4.4 = 9.4
4 4+ 2.7 = 6.7 1.1 + 1 = 2.1
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® 2.6 + 6 = 8.6 @ 2.3 + 1 = 3.3
@ 5 + 0.7 = 5.7 ® 2.8 + 7 = 9.8
® 6.5 + 1 = 7.5 ® 9 + 0.6 = 9.6
@ 1.1 + 6 = 7.1 @ 7 + 2.3 = 9.3
® 2 4+ 3.9 = 5.9 ® 1.6 + 6 = 7.6
® 5.4 + 2 = 7.4 ® 2 + 2.3 = 4.3
@ 3 + 3.6 = 6.6 @ 5 + 3.2 = 8.2
® 6.4 + 1 = 7.4 ® 4 + 3.2 = 7.2
©® 4.1 + 4 = 8.1 ® 1.9 + 2 = 3.9
® 1 + 2.9 = 3.9 @ 2.7 + 4 = 6.7
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